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On the asymptotic behavior of the average of
arithmetic functions

Joboobooobouobugbobooboobn 2000b0o0gad

20110 30



0 O

1

godgd

googo
A(z)00000
Ax)-Q,(x)00000
goooooooo

oboobon

14

20

29

36



1 0000

OO00000,00000000000D0000000 Chandrasekharan, K. O
Narasimhan, Raghavan 000 [1] 0000000, 00000000 E. LandauO
00 [2, 300000000, 000 Chandrasekharan 0 0 0 Landau 00000 O
godbbobogoboogobogobooobobbuoobbuoobboonon
gbboodgbogoboooboboobobuooboobooboboobboanon
. gggoobbbbuooooobboobuooooobboboooooon,bo
0000 n0000000000000000000d(n)00DO0ODO. OO0OOO
gb,ugdgbbobuodgbobobuoodgbbbe00bbbooobbboooobn
gbobO.boogobbbuoooobbbooad.

00 1.1.(Do0oooooooo).

R(x) = Zd(n) —zxlogz — (2y— 1)z

nlr

000.000,40000000000.0000, R(@) =0@Y4)000. 00
0,e0000000,00000000000

00000000 R(x) =0(=Y2)00000 ([4). 000,00 R 00000
01/400000000000,0000000000000.000000 R(z)=
O(x'/3+)00000. 00000000E. LandauD 00 [2], (3] 00000000
00,1)0000000000000000000000000000000000
D000000.000000,R()0000000 R(z) = O(x!3Y/416+<)(131/416 =
0.3149---)000 (Huxley [5)). 000 R(z) =09 0000000000000
(Hardy [6]). 00,00000,000 Y, _,d»)000000 zlogz + (2y — 1)z 0
¢0000000000000000000000000000000000000
00000000,

10000000,000006,020000 Ag(z):=Y,_,¢,00000 a,0
000000000000 ¢(s) =3,.,6A;*00000000000000000
000000.000A000000000n—0000M, 400000000
00.000¢(s)0000000000000 Q(z)00000000 Ag(z)—Qolx)
0000,00000000000.

00000 ¢(x)00000000000000,00000000000000
000 p000 Ay(z),Q,(x)0000000000. 00 A(x)00000,000
000000,000000000a,0),000000000,Q,(x) 00,000
00000000000000,¢(x00000000000000000. 000,
A (r)—Q,(x)000000,0000 Ay(z)—Q(x)00000000000000
oooooo.

0000000000000000000.



00 1.2. 00 f(s),9(s) 0000 f(s)Og(s)0 sODOD0D0O0O0D0ODOO f(s)/g(s) —
1ggg.

00 1.3.20000 {\},{p}00000000000000000000000.
00, {a},{b,})000000000000000000.000002000000
000 ¢(s)0 ¢(s)0000000000.000s=0+440000000.

o0 o0

pls) =30 (s = Do

s
n=1 """ n=1 Hn

000, ¢(s),¢(s)00000 ¢ >a,0>4000000,0000000000,
000000000000000000000.

OO0 14 N=21,1<v<NOODO, 0000000, >0000.00000,
N
A(S):Hr(avs+ﬂu)
v=1

00000.000,4A=%Y" a,00,42100000
00 1.5.000000 p000,

goooo. ooo ZDszDD M =2000000000 1/20000000
goo.

b 1.6. 000000 pO 04,

_ 1 p(s) stp
W =57 [ e

OO00O0Db.00bO,c0b0b0obo0oooooooobooo.

p=0000 Qo(z) 000000 a, 020000 A(x)0000000. 00O
o(s)=1/(1-520000 Q) 00 00000000000000000. 00
©(s)0000000000000, ¢(s)00000000000000000.00
000000 s=00s=1000,

1 x®
Qo(x) = 211 /C 5(1 — s)2 ds

s

T
s—1

s=0 s=1

z*(logz) — x*
2

= —1+
S

= —1+zlogx —x.



©(s)0000000000000000000,000 ¢(s)00000,0000
0000 Qo(z) 0 2°(logz)? 0000000000000000. 00000 a0 b
0¢(s)0000000000000000.

00 1.7. (000000 [7,p.40])).000000 J,(z)0000000.

IR S Gt O G707
Jolz) = mzz() Fm+1)I'(m+v+1)’ vet. (18)

00 1.9. (0000000007, pp. 192, 199)). (1.8)00000 J,(2)000
0oo(1),(2)00000.

c/2+ioo 2z—v

o [T By,
270 Jeppmie LV +1—2) xv

(2) J,(x)=0(z""?) 2 — .

, 0<c<Re(r+1),Re(v) > 0.

goobuoogobobooboogd.

00 1.10. 00 1.3,1400000 ¢(s),¥(s),A(s) OO O0O0ODOOOOOOOO
go.

A(s)p(s) = A6 — s)(d — s). (1.11)
O00s00000000. 000000 vertical stripd 000

Tim |A(s)p(s)] 0 (112)

gbbobuoodoo.bbuoooobobbuuodngooobbbooan.

Ao(x) — Qo(x) = O(2/2)~(1/44)+24mu)
+ O(xq_(l/QA)—n(log I.)r—l)

+O | > anl |- (1.13)
r<n<a’
000 2/ =2+0(™ V) 000 e>0000 u=p6~—(§/2) — (1/44) +e0
00,q0 ¢(s)000000000,r0000¢000 ¢(s)0000000000
0o.

(1) oooOooooooOoUoooooooOoooooooOooooooooOd
goguobbbodgodgbbe>oobbU0O0«>000000. DOOOOOO
O00O,00,000000000DO0000D0O0D0DO000pB=1,6=1,A=100
u=1/44+e>0e>0000.

go

gobogobogbbodbooobooobuoobobooboobobooboonon
gboogobodgb. bog,bodbbooobogbobodgbooboobooa,ooon
go,b0ggdooboogooobod.



2 Oooon

gbboboodgobbbooobobbooodobbboooobn.

1, n0000
0 2.1.a,=c, = 000

0, OO0
0000000000 a,=1000000 1.10000000000000000

goggoooooo. bbbbobobobb. @« =100000000000000

00o00oooo
=1
)=+

n=1

gobo,0ggobooodgooobn.

T (%) ((s) =7 2T ( ! S i ) C(1—s). (2.2)

00000 1.1000000000 (1.11) 00000000 A(s) =(s/2) 000
0,0000A=1/200000,0014000 A>210000.00000000
O00a,=10000001100000000. 000000000000000
00000000000 0000.

oooo Yy, ., .0,2000000000000. 0000000000000
yzOooooooo.

00¢00000000000000%,.,1/n*=¢2s)00000,00 1.10
00000000 (1.11)0 (22) 0000 s02s00000000000. 0000,

W—?r(%?)q%)zﬂ—%kr(lgzs)q1—2@.

0000000000000000,0000 220 70-2)200000000
000 ¢(s) =7°C(2s) =>_,-;&/(mn)* 0000000000,

00,00006=1/2000. 000, (1.11)0 (22)00000000000
Up = bp = Cp, dp = fin =7, A(s) =T1(2s/2)000000000000000 (1.11)
000000. 0000000 A=1,¢q=1/2,r=1,8=1/2,u=c000. 000
(()0s=100000000100000000000.00,7y02000000
00000000000000000000000,

) 1

L i oApu=gq— —— —
2 1A T TaT 9y
00,p=0000.000,0000000,
1 1 1
q— = —nNte=————-0+e=¢

2A 2 2



000.00000000e0000logez=0()000000000. 00,00
1500 Ag(2) = X e &0 = Yopea/ 00000, 00 11000

D = Qo(x) + O(e).

nz/m

oooo,
ch = Qo(mz) + O(e)

nlr

O000.00,Qrx)000000O0ODO.

QO(,]T:L,) — 271” /Cg(zs) 25 ds

S
= Res,—g (CQS) x®

o
- T T\

)
~
+
=]
@
wn
v

Il

o
~
no
N
A
» Do
)
~—
8
w0
S~

—_
N——
I
—~
DO
V)
N~—
»

A00000002s=t0000.00,lim,,(t—1)¢¢)=10000. 00000

ch:\/g—i-O(a)

nsx

00000000000000000000. 00,yre=y0000000 4200
0000000,0000y00000000000D0. 000,00 1100000
Dooooooooao.
Y 1=y+0(e).
0 2.3.a,=dn)000.
dn)0000n00000000000.00000000000

Oo0o000, (22)000020000

or (5) ep = ator (13 ) (152




000 11000000000 (1.11)0D00000ooooooooooo.

000§ =1000. D0O00000 210000 ¢s) = ¥(s) = 75¢(s)? =
Yonsr dn)(mn) 75 a, = b, = d(n), N\, = p, =, A(s) =T1'(s/2)?00000000
0000000 (1.11)0000000. 00,0000 A=1,g=1,r=2,8=1u=
1/4+e000,7p002100000000000000Op=1/6000.000,0
oooooo,

RS SR SO I
1= oa " 2 6 3
000.00,00 1500 Ag(e) = e, dn) = Y,,),d(n) 00000, 00 1.10
00
D~ d(n) = Qo(x) + O(**).
nx/m
nooo,

>~ d(n) = Qo(rz) + O(x/+)

nsr

O000.00,Qrx) 00 000O0O0ODO.

Qo(mz) = 1, /CC(S)2 x® ds.

211 S

000000. 000000 f(s)000. Qz)0 f(s)00000000. f(s)O
00 s=0,1020.

s—0 S

Ress—o f(s) = lims- () 7* = ((0)* = (—i) = i
Ress—1 f(s) = lim 4 ((s—=1)*f(s)).

s—1 ds

000 (¢(s)0000000000¢s)000000000000.

((s) = +9(s).

ooo,

(s—12f(s) = (s— 122 ( ! +g<s>)2

= (14 (s Dg(s)”.
log(s —1)%f(s) = slogz —logs+2log(1+ (s —1)g(s)).
((s = 1)%f(s)) g(s) + (s = 1)g'(s)
(s = 1)2f(s) 1+ (s —1)g(s)

—~

1
logx — — +2
s

—~



Ress—1 f(s) = ll_I)I%(S —1)%f(s) (log:r; - % +2
= z(logz — 14 2¢(1))
= zlogz+ (27— 1)z.

g(s) + (s = 1)g'(s) )
1+ (s—1)g(s)

gbooboooooboboood.

gﬂ%ﬂ@(a@—;%T)szDDDDDDD)

noo,
1
Qo(ﬂx)zz+xlogx+(2”y—1)x
O0000,dn)0:00000000DOO0COOOO.

Z d(n) = zlogz + (2y — 1)z + O(a/3+9).

nlr

giliooboggobboooobobooooboobog.

0 2.4. a, =ds(n) = 8{(j, k,1) € Z3,|jkl=n} 00D
O00O0ds(n) 0000 2,030000000000000000000. 000
0000000000000

00000,02300000000 (22)000030000

3
W—?r(gggq@3:w—%kwr(1;8) (1 —s)?

000 11000000000 (1.1)0D0o0o00ooooooooooooo.
6=1000,0230000 ¢(s) =¢(s) =72/2((s)> =3, o, ds(n)(7%n) %, a,, =
by = ds(n), A = pin = 720, A(s) = [(s/2)* 000000000000000 (L.11)
D000000. 00,0000 A=3/2,g=1,r=33=1Lu=1/3+000, 7
O0021000000000000p=1/6000.000,0000000,

! T I
- = e=1l—-———+4+e=—+c¢
=54 1 3 6 2

000. 00,00 1500 Ay(x) = se,ends(n) = 3, 52, ds(n) 00000,
00 1.1000
3" ds(n) = Qolx) + O@V/2+).

néﬂ'(*?’/Q)x



oooo,
ng 3/2 )+O( 1/2+e)

n<x

000.00,Qy(r¥22)000000000.

3
QQ(TFB/QII?) _ 2;lm L g(z) 5 ds

gbob230000000000000000.

1 T
Qo(n*?x) = «~§+-2w%x—1+3w 5 (1467 —37%).

O00,»wO00({(s)0s=100000000000000000 (s—1)000
DDD.DDD,dg(n)D t00o0bogboobgoog.

Z ds(n 10g z)?> 4+ (37 — Dalogz + (3y, +3v* — 3y + 1)z + O(x1/2+5),

n<x

d3(n) 000000 dp(n) :=t{(ar, - ,am) € Z%a1-+-a, =n} 000000

2. dn(n
Z; (n)

000.000,023,24000000004d,(n)02000000000000.
000,00000000 O™ Y/t oon0, mO00D00000000000.

=((s)™

O 2.5. an:ak(n)zzkdlndeDD.
o) 0000 n000000 k000000, op(n)0 dn) 000000k >0
O000.0x(n)0000000O0D0O0O0ODODOO

S 2 _ (s — k)

ns

n=1

O00. 00000, (22)0 (22)0sO0s—k000000000000O00O00O00O0O

HRN
w*rcg)r(sgk)qﬁas—m
- fﬂMﬂT<1_S>r<1+k_S)Q1—gQ1+k—@.

2 2

000 11000000000 (1.11)00000000000000000.
§=1+k000,0230000 (s) = ¢(s) = 7°C(s)¢(s—k) = 3, -, on(n)(7n)~*,

an = by = op(n), Ay = pn = mn, A(s) = T(s/2)0((s — k)/2) 000000000
000000 (111)0000000. 00,0000 (00,k>000)A=1,q=

10



l+kr=108=1+ku=(1/4) +(k/2)+c000,70021000000000
0o0np=(1/2)—1/2k+3)000.000,0000000,
1

- — k
q 54 n+e +

3

0D00.00,001500 Ap(z) =3, 0(n) = X cumox(n) 00000, 00

1.100 0
Z Uk(n) = QO(-T) + O(ij+(1/(2k+3))+£)'
n<a/m

oooao,
>~ ok(n) = Qolra) + O+ 1/ E+)+2)

n<r

O000.00,Q(rx)00000D00OODO.

Qo(mz) = 271m' /c C(S)C(SS — ) x*ds.

000000 f(z)0000, f(z)000s=00s=10s=1+k0300,%k>0
0000000000000.000000000000000000000000.

Resio f(5) = C(s)C(s = B)2°| = = C(=h)
Ress—1 f(s) = (s—1)((s)- C(Ss;k)xs =((1—-k)zx
Resni f(s) = (s— k= 1)(s — k) < LD
s=1+k

ooooo,

Qo(mz) = —% C(—k) +¢(1 - k)x + CA+E) o

1+k
000,k>0000k+1/(2k+3)>1/3000,
1+k) Lk k(1
— 1— +(1/(2k+3))+e
>_on(n) == +((1=k)z+O0( )

n<r

00k=100000,(n)0200000000,00 200000 ¢(2)=n2/6
oo,

D! :—a: 24+ O(2%/5%%)

n<r

11



ooo.

00,k<00000006>000 -1<k0000D00000000,k>00
000000000 Y, ., 0x(n)00000000.000,¢=1,4=100000
0000000.0000000000001/(3-2k)+e000,-1<k<000
000000000000,

1+ k
Zo_k<n) _ C(l . k)x—l— C( + ) x1+k +O(x1/(372k)+5)'
1+k
n<x
0 2.6. a, =r(n) =t{(a,b) € Z*|a*+ > =n} 00 0.
r(n) 0000 n020000000000000000O0O0O0O0O0O0. 0000,
1=024+12=0*+(-1)*=12+0*=(-1)*+0°00000 r(1)=4000. 000
0,r(n)/400000,r(n)/400000000000000

> T — sy

gbobobod.gdgn

— X(n) 11
L pu— p— 1 _— —_— . e .
<S) Z ns 35 + 55

n=1

O00000000000000 (mod4), 0000,

I, n=1(mod4)
x(n) =4 —1, n=-1 (mod4)
0, n=0 (mod?2)

00000000000 0D0O00. 00 L(s)boooooooooooooog
O0000.00,00 L(s)D000O0O00000oooooooooo.

s s 1 1—s 1—s 2 —
3T (2 Lpe) = a5 AT ") L - s).
2 2
000 (22) 00000000000
_ S s+1
72T <—) T C(s)L(s)
2 2
1- 2
— g (-990-9p “)r ") ¢(1 - s)L(1 - s).
2 2
000 11000000000 (1.11)00000000000000000.

0 =1000, ¢(s) = (s) = 7°2°C(s)L(s) = 2oy (r(n)/4)/{(w/2)n} 7", an =
by, =1(n)/4, A\ = pn = (7/2)n, A(s) =T'(s/2)[((s+1)/2) 0000000000

12



00000 (1.11)0000000. 00,0000 A=1,g=1,r=1,8=1u=
(1/4)+e(>0)000,7002300000000x=1/6000. 000,000
oooo,

! N
1= 5 " TTe=73g 7¢

000.00,00 1500 Ay(2) =3 jomea "(0)/4 = 2 ca/me7(n) /400000,
OO 11000
> r(n)/4 = Qo(x) + O(z'/*+).
ng%x
o000,
> r(n) =4Qo((n/2)x) + O(x'/*+)

nlr

000.00,Qu(r/2)2)000000000.

@o (% I) - 271m' /C C(S)S,L(S) o ds.

000000 f(x 0000, L(s)000000000000, f(z)000 s=00
s=10020000.000000000000000000000000.

Ress—o f(s) = ((s)L(s)z®

Ress—1 f(s) = (s—1)((s)-

0o, L(0)=1/2,L(1)=x/4000000000. 00000,
1
Qo(wx):—ZJr%x
O0000,rn)02000000000000O.

Z r(n) = x4+ O(x/3F9).

n<x

13



3 A(x)00000

00 110000000.0000000 A,(x)00000O0DOOCOODCODO. OO
gbobobooogbobdu. ggobobouoooobobbuoooaon.

00 3.1. (8, p.8l]). p=0,c>a0000,000000.
1 c+i00 ©(s i
W)= | 1) .<..)(s+p)x+pds' (3:2)
A(z)D0DOOOOOOO,000D0D00D pOOOOOOO. OO pOOCODO
gogoogd. pddooooo,oogogo Ap(x)DDDDDDDDDD Real
part 0 0 — 0000000000 00OOO,000000 (32)00000000O
O000000000000.6—p00000%(0—s)0000000. ¢(s)000
00 (1.11)00 (00000/00000)x¢@—s)00000000. 00000
(32) 0000 é/—p0000000000OOOOD,0000000000O0O0O0O0
0.00,32)00000000000000000O0OO, cO0D000O0O0DODOOO
gododododdoodootdooooooooooooooogoo. oogo
goodoooooob.ooogsbboobbobbbpbobbbbooogog
ogooo.
DD,DDS.IDDDDDDDDDD.DDDDDDDAP(;E)DDDDDDDD ©(s)
O000000000000. 0000 p(s)000000000000000000
ooooooooooooo. ooooooooooono 3d.3a000d.

00 3.3. ([8, p.79]).¢>0,r>200000,000000.

" A A |
1 CT100 xs
/ ds=14q1/2, z=1

2 Jolioo SET

0, O<z<l1

Ob. s=c+¢00dgd.
Oz>1000.

Ododooooooo. ooboooooooooooo ctuc,ucsuCc,0Oo
0. 00000 ROTOOODOOOOOODO c,Oo00. c,0c,000000000
000 cso c,0o0ooddooo. ooooooooooooaoa.

/ v ds| < / R |ds|
c, S+ Ry S+
_ x—R/_R_ZT |ds|
—RiT ST
< xR/_R_lT |ds|
N —rer | — R

R —R—iT
o
R—r —R+iT

14




Cy T

Gy

Cs
Cy

—1T
—R

- é; | — 2T

T

— 9 B

o R—r

00

5 “RHT 0

/cg s+r ds‘ = /c—i-iT m’d8|
xc/RJrz’T ds|
erir ST

xc/—R—i-iT ds|

erir T

z° —R+iT
- s
c+iT

.R+c
T

lIA

lIA

= T

R
¢, 0000000 / < et
Ca T

000,7T=R0000000000ROTO0O00 40000000 2>100
ooo,

goo.

2

— —0 (R— ).

15



Us=—r0dgdbzs"000. 000000004,

1 c+1i00 s
, / v ds=z""
2m . s+

—100

goo

)

rx=1000.
gboobooogbbobooo. oo,

1 c+i00 s
‘ / T ds
27 Jolioo ST

1 et
= , / ds
2 Joioo ST

c+100
c—100

= 21W [log(s + )]

1 .
= 5 [log|s + r| +iarg(s + r)]

= — [lim log

c+100
c—100

c+r+iT
c+r—1T

N %71m (1°g|1|“{%_ <_%) }>

O0<zx<1000.

c+o0o s
xr
/ ds =0
c—ico S +r

gbobooodgo.bbdaodan,

c+ioo 8 1 e c+ico 1 ctoo s
ds = + ———ds.
ice ST logx | s+7r logz Jo_ine (s+7)2

c—100

gilioooboggogobboo. dd,

1 8 c+iT 1
logz | s+7r |, .+

log x

T

Ic+iT c—iT '

c+r+iT c+r—iT

A

x° 1 n 1
logz \ |c+7r+1iT)| lc+1r —1iT)|
— 0 (T — o0).

16

+z’Tlim {arg(c+r+iT) — argla+r —iT)}



gb,b020000bb0b0od0oboboooobbn.

c+ioco s c c+ioo
1 / T ds| < T / ds ‘
logz J._ins (s+7)2 logz Jo_is |s+7]?

00000000 s=—r00000000000Re(s)>—r0000ooon
gboood. bbudb coggbbuodgbbood.b,0<e< 100000 20
gobbooboodggo. gob,bbobbbodd cbobbbooooooobon
oboboboobooobooboo.oob,0obo200o00b0.0000D0O,

c+o00 s
X
/ ds =0
c—ico S +r

gobo.ooogobbos33000oo. [

gbbddez=10000000000000000000000O00000O00
00000 o00000000000000. A,(x)0000D00D0,0000010
goooboog.

00 3.4. ([8, p.79]).p>0,c>00000,

]-( )_ 1 c+ioo 1 s+pd
DT ) St Y

gobo.ooogoboooad.

o) = {(1/p!> (=1, w21
0, <<l
oo.
pl _ T+ UI(s)
s(s+1)---(s+p) I(s+p+1)

17



20000000, 0000bL0b0000bbLOOO0OOOUbLObDOOUDLDbLbOOOOn
goo.

' I'(p)T'(q)
Bp&:z/nﬁll—tqhﬁz—————,p>aq>0
(p,q) i (1-1) T T q)
00, ()0oD00o00. 0000,
1 C+’LOO]_ 14 _1rp
I(I) — / _ MISJFPGZS
2T Jeioo Pl A SHET

1 & p\ 1 oo s
= — —1)" — ds.
p! z;( )(r) 2mi /Cioo s+r °
dddodoooooooooouododou,odouououoooooa
ogooo.

bbb od33bdxz>10000,

& , 1y 1

1) =205 (N =2 (1 1) = S
p! o r p! x p!

00 Y (-1 (?)=000000,2=10000I(z)=0.000 0<z<10O

0D00003300I(x)=0000.000 003400000. O

00 3.5.00340 I(z)0 p=00000000. 2> 1,0<x<1000000
340000 p=000000000000O00O0D0x=1000000000. p=0
O0x=1000000330x=1000000 I(1)=1/2000.

b 34000000 31000.

003.1000. (32)00000000000. e>a0000 ¢(s)0000O0n,
p>00000000000000O0OO0O0DOO0ODOO.DOO,

o0

1 c+io0o 1 n
3.2)000 = —/ 3 It ds

21 00 5(S+1)(S+p) n=1 /\n

c+100

= 1 1
= g [
- 210 Joioo S(s+1)-+-(s+p)

o0

= Y a M I\ ).

n=1

(A 12)5P ds

003400 M\l'z<1,0000,z<X,00I(\'%)=0000.000000
0000000000000000000000000. 00000330 z=10
000000000000000000000000000000.

18



00, \%>1,0000,),<z00I\'%)=01/MM\"e-1). 000,

I _
32000 = > aX o (A\te — 1)
AnZzx
1 p
= o Z an(x — A\y)
An Sz
= Ay(x).

p=0000000 3500 I(1)=1/200000,p=000 N\, =2z00000
0> .,...,ex0000001/20000. O
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4 A)(r)—Q,(x)00000

0000000000000,00000 A,(x)00D0D0O0O0DOOOD—p0O0
gbooboogob.booooboboboooooboobog.

00000000 DDO vertical strip § — 8 < Re(s) £ a 00 Imagnary part O [
0000000000000 000000O0D000. 00000 Lindelof0O0O0O
StirlingO0 OO0 OODO.

00 4.1. (Lindelof 000 [9, p.118]). s=0+ir,F={s€Cln <o <1n} 00
0. f(s)0 FOOOOOOOOOO,00 (1), 0000000000
(1) 00000000000, FO0000 |f(s)]=0(™) |7 — .
(2) FOOODO |f(s)]=0(r]°) :|r] — oo.
0000 f(s)0 FODODOO |f(s)|=0(7») D000,

O0.000000b=000000000.00 (2)00,00MM>000000,
FOOOOO |f(s)|£MOODO.mO40000200000000.0000 FO
goo

Re(s™) = Re((o +i1)™)

=~ 07" ) 7| = oo

00000, Re(s™)0 FOOOOOOO. m, NOOO m>4,Re(s™)<NODOOO,
OD00e>00000,

m

FOODOOO |f(s)e™"| < MeV

HRN
FOOOO |f(s)e™"] = Ol —="+KI7™" ™) 0+ |7] — oo
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000.000KOOOOOOO0OO0. 0000
[f(s)e" | < Me™, (s € F)

000.—00000|f(s)| <M, 0000]|f(s)=0(79000.000b=0
oooooooo.
b£00000b=00000000000000

9(s) = (5 — 1n 1) = Hlostswi s

000.0000000000000000. Re(log(s—vi +1)) =logls—1 +1|0
00 ¢(s)0 FOOOO

l9(s)l =I5 =i+ 11’0 J7" : || — 00

000. 000, fi(s) = f(s)/g(s)000. 0000, 00 fi(s)0000b=000
00000000.0006=0000000000000000 fi(s)0 FOOO
00000.000 |f(s)=0(rh)D0o0. O

00 4.2. (Stirling0 00 [10, p.201]). 000 vertical strip0000000000.
IT(o +47)|0 V2r|r|o~ V2~ ™A1 7] = 0. (4.3)
O0.0000Ilegl'(s)02000000000

w (55) L

0

gbobobodo

I S S

s (s+1)2 0 (s+2)? (s +n)?
000000000000. 0000000 s=v0001/(s+»)?20000000
ooOo0o,0000000,

mcot m(
¢@%~G:57

O000.000,cots=1/tans000. 000 CO000,000 s=0+ir000
OD0ec>0000.000n—o0c00,20000000000.

O0000¢=00¢=n+1/2000000000np=4+£Y 0000000000
O,0000000000,Y,n000c0d00OO0O000.00000000 KODOO
O,00000000000,0000000000O0000000000D0DOO0O
Oo0ooooodooD.dd,e>00000000 KOOOOO s=0,1,2---,n0
oo. o000,

n

by [ (A= S

21 Ji 25> = (s+v)?

21



ooo.gob,pv.dbbOo0bOo0bO0bO0OD. Yyn0UODUOOcoOODOO
000, KOOOOOOO E=n+1/200000000000000. 00000
U000 —ccUDcoOOOOO0OOOUOooobboouooooobn.

d [ T'(s) _i+ 1 +/"0 4ns dn
ds \ T(s) ) s = 2s2 o (MP+s2)2 e?m—1"

O0000000. legsO0000O0D0ODOOOO,COOOO0OOODO
I’ 1 © 2 d
((S)>:C’+logs—2——/ E—— (4.4)
0

I'(s) s n?+ s> e —1

gob.ogobbobbooooobo,bbbooooobbobboooooboon
gobobodug,dbb studdde>00bbboooonobobboooobbn
gooboogobbboooonon.

O0000000. 0000000000 arctan(s/n)0000. OOOOOOO
00000000000 44 0000000000.

< 2n dn 1 /°° s 1
. : dy = — 1 dn.
/0' n? + 82 e27r77 -1 U T 0 7]2 + 82 08 1— 6—27r7] U

gboobooogbob.ogoobobog.

1
logT'(s) =C"+ Cs + (s — ?) log s+ J(s). (4.5)
noo,
s = [ 5 Ly 4.6
(S)_ 0 772+S2 0og 1—6_27”7 n ()

O00.Cc’'000oo0oooo,oo0g0Cc—-10coooooon.
000 CcOC'00n. 000000 J(s)Dooooooooooooooooo
c2c>0000 s—o0l J(s)—0000. 00,

Is/2 o0
J(S) = / +/ = Jl + J2
0 |sl/2

000. ;00 [p*+s%=3]s)?/400,

4 > 1
Ji| £ log—d
RS 37|s| /0 B —eam M

000. 00 [n*+s%>¢s|00,

1 o 1
| Jo| < _/| log ————dn

—2
T Jis| 2 1 —e=m

O00.log(l—e*™0000000DO0O0O,s—o00 J;,,0000000.

22



CO00 logT(s+1)=logs+logl(s)0 (4.5)0000000000000. 00,

C’z—(s—i—%)log(l—i—%)+J(s)—](s+1)

000s—o0od0C=-1000.00,C'000s=(1/2)+ir000 I'(s)[(1—s) =
m/(sinms) 0000000000 C =(1/2)log2r000. 00000,

1 1
logI'(s) = > log2m — s + (s - ?> log s + J(s) (4.7)

000. 000, J(s)000 (46)000000000,000s2¢>00000
s—oo000000000.00000T0(s+1)=s(s)000 (43)000. O

Stirling0 00O (4.3)000 (00000 /00000)000DOO0OO0O0O0OOOOO
O00 sO Imagnary part 0000000000 exponential 0 000 O0O0O00O0OO
O|rl —oc00000000O0O00O0ODODOODO.

p(s) 0000000000000 0000D0 P(s)D0000ODOOOOOOOOO
D0D0D00. 00 P(s)p(s) 000 4100000. 0000 P(s)p(s) 000 4.10
00 (1),(2)00000000000000.

(1) 00O vertical strip 0 |A(s)p(s)] — 0, |[7] — oo 00000 (1.12) 00 |o(s)| =
O(1/|A(s))00D0. A(s)0 NODOODOOOOOOODOODOODO Stirling D0 0 (4.3)
00, ¢(s)0 |7] »o0000000000. 000, |P(s)e(s)|000000.
(2)oc>a00 ¢(s)000000000 |p(s)|000000000. 000,0<6-7
O0000000 |e(s)] = |AG —s)/A(s)||[v(0 =)0, |96 —s) 0000000
O, ]A(0—s)/A(s)|] 000000 Imagnary part 0 00 000 Strling0 00 (4.3) 0
O |(s)|0 |r]| — 00 0000000000. 00000 |P(s)p(s)|0 0 >a000
c<d—p0000 |71l -cc00000DOODOOOO.

0000 |P(s)p(s)|00041000000000000000000O0O00O00O0O
000, |P(s)e(s)| 0 vertical strip d — <o <a0000 |7 —o0oc0000000
00000000000, P(s)0000000 |p(s)|0 7| » co0 0000000
O00. 00000000 A(x) 00000 vertical line0 o =0—- 4000000
000000000 A,(x) 00000 (3.2)000000000 s(s+1)-+-(s+ p)
0000 pUbD00O0O0000 Imagnary part 000000000 OOO0OOO
O000.000,¢(s) 000000000000 cOO0ODOOODOO,

1 ct+ioo 1 d—c—1i00
. / #(s) 2P ds + —— / P(s) 2°P ds
2mi c—i00 S(S+ 1)(S+p) 2mi d—c+ioco S(S—|— 1)(S+p)
= 0J0000000000000000o0n0
= Qp(m)

O00. 00001000 A4,(x)0D02000000000.0002000000
O0.000,000000000Realpartd d—cO o(s)000000000O0O0OO
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00000.00046-s0s0000,00000000000000000.00,
Ap(w) = Qp(2)

1 d—c—ioo T
= — / ¢gp(s)x8+pd8
271 J5oerino Tp+1+5)

_ L e T(6-s) b—stp
T 2mi /c_ioo T(6—s+p+1) P00 =) ds
1 et (6 —s) A(s)

— d—s+p
21 Joo T(6—s+p+1) AG—s) Pls)z™ 0 ds.

0o,
__ P0=s) A(s)
9(s) 1= F@—s+p+1) AG—s)
I(x) := 271m' /_' g(s)x® TP ds (4.8)

ODO0DO0.c0p0D00D0D0D0DD0O0D0Y(s)000000000 DY 00000
ooooogoo.

[e.9]

Ay(x) — Qule) = 2; / )Y s

—100 n=1

c+100
6 s+p
= x) ds
‘”P o / _ Jpn

- Z (5+p (49)

gboobdch pbbooobboboooobbbuoooobbbood.
00 I(zx)DODDODODOODODOOODOODODODODOOO,0000 I(x) 0000000
000 cO00D000D0000. 00 StirlingdO0O (4.3)00,

I'(6 —s) [ |7_|(5—0—1/2)—(p+1+5—o‘—1/2)
['d—s+p+1)

= |r|7"7t 7] = oo
00, |A(s)/A(6 —s)|0O(|7|Aoooog,

’ L6 — s)A(s)
T(0—s+p+1)AG—s)

000.000,I(x) 0000000000 0000 A2—68)—p—1<—1,00
O0c<(4d4p)/(2A)000. 00000,c=c¢,=(40+p)/(2A) —e (¢>00 p
O0000000D)0d0d. p00D0O0O0O0 cOODDOD0OOOOO0DODOODOOOOO.
g, ggoooooboobbbbuooboodod ebbbbooooaag.

00 I(z)0D0000.

’ 0 O(|r[AC=D=,r=1y 7| = o0
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00 4.10. (48)0000 I(zx)000,000000.

I(z) = O(x(5/2)—(1/4A)+p(1—1/2A))'

00000000000, [(x)000000000000000000,0000
00 (0000000000)/(0000000000)000000000000 (1
0000000)/(10000000)0000000000000000. 0000
0/(zx)00000000000000000000 1.92)000000000. 00
0I(x)000000000,010000200000000000.020000
ooooooooo.

c+1i00
/ h(s)x® =5t ds.  (4.11)

—100

I(x) = ! /CCHOO [g(s) - h(s)}x‘sfﬁp ds +

21 J oo 2mi

hs)0ODD00O000.

F(AS + /L) 63—&—95.

"5 = T As)

000, u,A\0,B0 ¢(s),%(s) 0000000000000, 000000000
oo.

R 1

AN = p+AS+p+1.
N

0 = 2204,,105504,, —2Alog A.

v=1

N
B = —5Zal,loga,,+ (Ad+p+1)log A.
v=1

gboboo200000,000100020b000bbo0oaobobooobn.
00 411)00010000000.

00 4.12. ((4.11)0010000).

c+io00o
1 / {g@) B h(s)}mé—s—&-p ds — O(x(6/2)—(1/2A)+p(1—1/2A)+s).
2mi .

—100

O0. 00 Stirling0D 00 (43)000000000000000O00ODO.

o(6) = 1(s) =)0 (1) slrl = .

25



0100000000 1/2A00000.0000000000,00000000
g U Ug g
O00. g(s)—h(s)0DOO,

—Re(%), —Re(ii), d+n nelsy

0000 000000000000 20000000000000000000
00. 000s=46+n000. 00000 ,p,000000000000000

s=06+n,n, €Z5)000.0000000000000000000000
oooo,

! /:HOO [g(s) - h(s)}x‘s_sﬂ’ ds

27 Jolioo
1 cp+(1/2A)+ico
— , / [g(s) — h(s)] 2P ds + R
2mi cp+(1/24)—ico
1 cp+(1/2A)+ico 1
= : / h(s)-O (—) 2?7t ds + R
2mi cpt(1/24)—ico ||

000. ROODODDDOO0000000000s=46+n,000.
M@DDDDDD/@@#SW@DDDDDDDDDDQ

cp+(1/2A)+ioco 1
/ h(s)-O <W) 2075 ds
. s

o+(1/2A)—ioco

| peot(1/24)tico 1
< :135+”_c”_%/ ’h(s) -0 (W)‘ ds
. S

— O<£E6+’D_C”_(1/2A))

_ O(z/D-(/24)+p(1+(1/24) 1))

00,0s=6+n,01000000,
R=00+p—(5+mn,)) =O0(p—ny).
00000000n,2(p+1-A48)/(24)000000000. 000,

R = O(zP™)
_ O(xp—(p/QA)—(1/2A)+5/2)

= O(x(5/2)—(1/2A)+p(1—1/2A))

O00Oe>000 ROOODOODOO.OODODOO,

1
271

goo. [l

c+100
/ [ o(s) — h(s)} 25 ds — O(2 812011240 +p(1-1/24) e

—100

26



gbb2000000b0b0000bbobooaobo.

00 4.13. ((4.11)00 20000).

c+i00
L h(s)x§_5+p ds = O($(5/2)—(1/2A)+p(1—1/2A)).
21

c—100

gb.obooggobbbuooobbbooogbobooboa,gb19000bo0n.

1 c+i0co
/ h(s)x®=** ds

271

1 c+1i00 r A
_ ( 5+ :U’) eB+®sx675+p ds

c—100 F()\ - AS)

211
I'(As+ ) _
— A o+p Os 5
1 /CF(M—l—A(S—i—p—i—l—As) oo

_ A2x6+p/ I'(z) 002/ A L —(2/A)+(/A) g,
Acin P2p+Ad+p+1-2)

F(Z) B —2z
— A, 5trtu/A) / ©\1/24 d
20 Acip L@Ru+A5+p+1—2) {(xe ) } :

—100

22Z_VF
_ Asmé-‘:—p—i—(u/A)/ (2) (2y1/2A)—22 d
Actpu F(y +1- Z)

_ gttt B(291PY)
3 (2y1/24)v
_ A4x6+p+(,u/A)f(zz/2A) J,,(2y1/2A)
— O<x5+p+(u/A)f(V/2A)7(1/4A))
— O<x5+p+(u/A)f(u/A)f(5/2)f(p/2A)f(1/4A))

— 02/~ WA Hp1-1/24)y

30000000 As+p=-00000000.00,50000000 2u+As+p =
vre® =y0000. 00060008000000000000 1.90 (1), (2)0
0oooo0.00,4,---,A,000000.

001.9(1)00000000000 1.91)000

0<c<Re(r+1),Re(v) >0

0D0000000000000000000000.

0000000200 24c+2Re(p) 0, v = 2u+Ad+p,0 < ¢ = ¢, < (Ad+p)/(24)
00000010000000.00,Re(v)>000000 p0000000000
000.000000041300000. 0

Oob4.10000. 00412000 4.1300,

I(x) = O(x(5/2)—(1/4A)+p(1—1/2A)+a) + O($(5/2)—(1/2A)+p(1—1/2A))

27



O00.s000000e<1/4A0000,

I(z) = O(x(5/2)—(1/4A)+p(1—1/2A))

goo.
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5 Uooboboonbn

000 (4900 A,(z) —Q,(x)0 I(z)0000000000000,000 pO
0000000000000.00000 p000000000000000000
Ao(z) — Qo(z) 0000000000000 p0 00000,

00 5.1. (00). pO0 00000000,y >0000.00 F(z)O p0O0OO0OOOO
gooog.

p

APF(z) := Z( 1)~ ”(p>F(x+Vy) (5.2)

/ / T / ,,1 R0 dt,, (5.3)

FPO FOp000000.(52)0000 (53)000 FO CPOO0000000
0000.000 ¢r0000000000000000000000000000
0000000000, 000000000000000. 0000 y=0(z)00
ooo.

00000 (4.9000000000.

00 5.4. (A,(z)0 pOO00OODO).

AjA(2) =y Ag(2) + O [y D al

r<n<x+py

oo. DDDDDD@%

APA,(z) = ) (p) 0 an(x + vy — A\,)°

An gx—i—l/y

_ py(/y))F S+ Y Jale vy -

A xz<Ap<atvy

= ) P an(x + vy — A
(u>rp+1 3 el vy
—l—i ; Z an(x + vy —A,)°

Plp+1)
V= r<Apn<z+vy
AP(x — \,)P

i 1
S (g5, e

z<An<ztry

29



(z—X,)’0 p0000 pl=T(p+1)00000 (5.3)00,

Ap(x_)\n)p x4y ti+y tp—1+y
vy 7 / dt1/ dt2.../ dtp
F(p+1) T t1 tp_l
y’.
O0,020000,z< A\, Z<z+vy000z+vy— A\, 0y0000000

S (i L wetm-ar=olr ¥ lal

v=0 <A <z+vy r<An<x+py

gobo.ooood,

MA) = Y an+O |y D a

An<z r<Ap<rtvy

= y Ao(x)+0O |y Z ||

2<An<T+py
000,005400000. O
00 Q,(x)0D000.
00 5.5. (Q,(z)0 pOODODOD).
AQ,(x) = y*Qo(x) + Oy 2% (log )" ).
000 ¢0 ¢(s)0000000000,»000000000000.

00.000 (5.3)0

1 e(s) stp
W= g

00000. Q,(x)0 pO 0000000, 00000000000.000000O
gbobobooogbboboooobobobod.

goo

Qgp)(a:) — L /C &xs ds = Qo(z)

2w S
O00. 010000000,0000000 s=4(0000000 xg(logx)’"ﬁ_lﬂ
ooooooooo.oog,r0ds=¢000000. 00000,

Qo(z) = ) O(a*(logz)™)
¢

= O(2(logz)" )

30



gbooob. Dbod ZgDDDDDDDDDDDDDDDDD,qDSD Real part 0 O
ood,rdr.0o0o0dooo.
gb,u00d00bood

o]
/ Qo(t)dt =y Qo(z +yo) : 0<yo<y (5.6)

D000y=0(x)0000000000000 Qo(z+10) = Qo(x) + O(yoQl(z)) O
0oo.o0oo,

yQo(z + yo) = y Qo(z) + O(y°Qp(x)) (5.7)

000, (5.6)0000 (5700000000 p000000 Qz) = 29 (logz)™"
0
ALQ,(x) =y Qo(z) + O(y* o Ylogz) ).

000 ¢0 p(s) 0000000000,y 0000000ooooo.ooo,o00
0. [

00 (49000000000.

0o 5.8.

o0 bn ) ) ) N
Af/ (Z —5tp I(nx)) =0y’ 2Au,,.(8/2)—(1/4A)+(24-1) ).

n=1

000 u=8-(5/2)—(1/44) +e>0000.

00. I(x)0000000. (52),(5.3)00000000000020000000
00.00,(.2)0000000,y=0(x)000000000

_ 5/2)—(1/4A)+p(1-1/2A
AZ[(I‘)—O(Q?(/)(/ )+p(1=1/ ))

O00.00,(GB3)0000,I(z)0 p00000O0D000ODOO0O I(2)0 pOO0O
OI(z)D0000I(z)0 p=000000000000000000. IW(z)00
00 I(x) 00000 p=00000000000.000000,IW(x)00000
7| > RO o0=co0 Cy—iR,Co+r—iR,co+r+iR,Cyo+:ROODDOO0O0O0O00OO
jooobooooobooooobooobooooooo. oo RUOUrOOO0O0ODOOOOO
Ooboobooboooboobooooboobooboobobo. oo, bobobobobo
O00000o00oO0oo0ooooooooD. 3)b00000D00 YO pOOO
od,
AZ](J;) — O(y’)x(‘m)’(l/“‘))

000.00000000 I(nz)000000. 00 f(z), F(z,y) 0000, Aff(z) =
F(z,y) D000 Aff(na) 0 (A2f)(n2) D000 200000000
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AL f(nz) = i}AV”(ﬁf@@+vw)

v=0
= F(nac, ny)
000 -0y0000000.00000,
O((nl’)(5/2)*(1/4A)+P(171/2A))
O((ny)? (na) /2= (1/44))

AlI(nr) = {

gbob.ogobbugoobbdudgib zbu0,b1ggbobooabb,o200
gbooboooooooo.

=0 R I{ppx) | +0 Z R I(pnx)

Hn>Z

(6/2)—(1/44)

— (kny)? ()

fo2)

[bn| - .
+0 (Z unf?” (p) O/~ (/42 +p(1-1/24)

Hn>2z

|0 (6/2)—(1/4A)
=0 Z 11, /D +(1/44) y'x

/‘néz
|bn| (6/2)—(1/4A)+p(1—1/2A)
e (Z 11 CIOFAA+(p2A) ’ : (5.9)
Un>%2
ogod Zungz |bn|Mn_(5/2)_(1/4A) 0 ZM>Z |bn|Iun—(6/2)—(1/4A)—(p/2A) 000000
gooao.
Ov<pf+e(e>0)000.
10, 3 [ —
> = p
v ﬁ+ n
ymzz Hn jimz Hn :
B+e—v ’bn’
Mn>2z
= O ).
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Ov>pf+e000.

bn bn —
S = X e

HUn>2 Un>z

B+e—v |bn|
é zZ c Z Iunﬁ+5

Un>%2

= O(z’g+5_”).

w>000 (6/2)+ (1/44) < B+000000 pO (6/2) + (1/44) + (p/24) > 8
ooooo,

O (81D~ (1/24) _u (6/2)~(1/4A) +p(1-1/24) _u—(p/24)
(5.9) = O(y’x 2)+ O(x 2 ).

gb2000000000Db000bbudgn z020000y000000000
gbobbooggbboboog.obbooboao

= 241y ~24

gbooboooobobboo.gobbobuooan

(5.9) = O<x(5/2)—(1/4A)+P(1—(1/2A))+(2A—1)(U—P/2A)

O(£0/2) (/44 +2A=1)u, p—24uy

y (24 w=p/24))
0

000 (4900000 p00000000. 00000000000 0OOO0O yO
goboboooob,boggooobod.

OO0 1.10000. 00 54,55, 6.800000000.
Ap(7) — Qo(x)

_ O(y_QAuJI(6/2)_(1/4A)+(2A_1)u) + O<qu—1(10g x)r—l) +0 Z |an‘
r<n<x+py

D000000000000000000000y0y=0(x)00000000
00,00072000000y=2"02"00000.00000

Ao(z) — Qo(z)

_ O(x(6/2)7(1/4A)+2A17u> + O(xqf(l/ZA)fn(log x>r71> +0 Z |an’

z<n<zr+py

goo,0gobobooooon. [
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000,e,2000000000000300000000000.
00 5.10.4,20000,(1.13)00000000.
Ao(z) — Qol) :O(x(5/2)—(1/4A)+2Anu)+O(xq—(l/QA)—n(logx)r—l)'
000000000000,
00 5.11.6,20000,000000.
Yy Ao(z) = AJA,(z) <y Aoz + py).

O00.000000 (b3)00oooooo.

t1+y tp—1+Yy
LA / / e [ Aot

a, 2000 A,(z)00000000,0000000000000C0000. 00,

r+y t1t+y tp—1+Yy
APA,(z) = / dt, / dty - - / Aolp)(t,) dt,
T t1 t

p—1

Tty ti+y tp—1+y
% / dtl / dtQ cee / Ao(p> (tpfl) dtp
tp—1
t1+y tp—2+y
- / i [ d / A(p)(tyr)
-2

= ypAp<x)
oo, dogogod.

gbs.10000. 0ds511g0p0ooogd.

Ao(z) = Qo()
< yIAGA() ~ Qo
- ‘W[ o(5) = Qufa)] + U A ) - Qof)

_ O( (6/2)—(1/4A)+ (2A71)uyp72Au)

+y~"(y*Qo() + Oy 2" (log 2)" ")) — Qo()
— O(y—2Au (6/2)—(1/4A)+(2A-1)u )+O(qu 1(10gm)r 1)
O( (6/2)— (1/4A)+2Anu)+0<xq (1/24)— (10g$) )

goo,3000000000 54,550000.
QO() O(zi(logz)" YO y=0(x)000000ODOO.

Qo(w +py) = Qo(x) = O(ya* (logz)"™")
= Oz 12Y™(log )" 1).
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gboood,0bobogd.

Ao(z + py) — Qolz + py)
y P AYA,(x) — Qo(z) + Qo(z + py) — Qo(z)
O(x(5/2)—(1/4A)+2A77u) + O(xq—(l/ZA)—n(log $)r—1)‘

\%

Ao(z) = Qo(x) O Ao(x + py) — Qolz + py) 100 OOOO DD
AO(I‘) - Qo(x) _ O(x(é/Z)—(1/4A)+2Anu) + O(xq_(1/2A)_n<10g x)r—l)

goo.

35



6 LUUoooono

0000230000000,200000000,%
0ooooooooooo.
Y ...dr)00000000000000 f,(x)00000.0000,

— > dn)

n<sr

OO000D0. 0000 Maplel3OOODOODOOOOOOODOODO.

dn)000000000

nsr

—zxlogr — (2y—1)x

z fo.s0(x) Joss(x) foa0(x)
1.0x 10% | 0.8577551 | 0.6072440 | 0.4298959
1.0x 10* | 1.279769 | 0.807481 | 0.509486
1.0x 10° | 0.45288 0.25468 0.14321
1.0x 10° 1.4598 0.7317 0.36671
1.0x 107 0.748 0.3342 0.1493
2.0x 107 1.012 0.4365 0.1883
3.0x 107 0.005 0.002 0.0012
4.0x 107 0.777 0.324 0.1351
5.0x 107 1.395 0.575 0.2370
6.0x 107 0.204 0.083 0.0341
7.0x 107 0.483 0.196 0.0793
8.0x 107 0.930 0.375 0.151
9.0x 107 0.451 0.180 0.072

023006>1/30000 fy(z) > 0,s —00c00000000000000,0
00002006=03506=04000000000000000000000.0
00000,0000200000000000000 Maplel3000000000
0,000000000006000000000000000
0000000000 d(R)0200000 zlogz+(2y—1)2000000000
0000000000, dn)0200000 zlogz+ (2y—1)z000 29f,(z) 00
000.00000000000000

(10°)%4 f5.4(10°) = 14.321 - --
(10%)°4 £0.4(10%) = 92.113 - - -
(10M)%4 f.4(107) = 94.201 - - -
0.

(9x1w)€549x1m)_uw4my~

0000 Y, dn)0x=10°10510"000 9x 107000, zlogz + (2y — 1)z
0000050000030,60000030,70000040,80000050
000000000000,
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